AVIC ZEMIC

B3G

© NEWMHER, S B, KR, WESEE&RE,

- BiPER IP6T,

- ERTREN. BFT. HANEERBTIRERS,
+ OIMLIAE, WE$H-S: R60/2000-CN1-06.02

- NTEPIAIE, #EHS: 06-099A1

HERENS

xxkg C3/A5S/B10S B3G—xx—xxkg—6B
xxt C3/A5S/B10S B3G—xx—xxt—6B
xxlb A5S/B10S B3G—xx—xx—6YB

xxklb ABS/B10S B3G—xx—xxK-6YB

20klb C3 B3G-C3-20K-6YT

[@J [O&L 50kg—10t 3@1F OIML C3 FIAE,
& 50kg-7.5t ( 50lb—15klb ) @it NTEP A5S/B10S KIAIE

FARIEFR
T t 0.025/0.05/0.1/0.15/0.25/0.5/1/2.5/5/7.5/10
Ib 50/70/100/150/200/250/300/500/750/1K/1.5K/2K/2.5K/3K/5K/7.5K/10K/15K/20K
EE C3 C4 ABS B10S
TAIE OIML R60 C3 1115000 & 2 I11L10000 & 2
AR EDEL nmax 3000 4000 5000 10000
=V EDER Vmin Emax/10000 Emax/14000 Emax/15000 Emax/10000
LGEIRE (%FS) < +0.020 < +0.018 < +0.018 < +0.035
ey (%FS/30min) < +0.016 < +0.012 < +0.012 < +0.030
RE I REUE R0 (%FS/10°C) < +£0.011 < +0.009 < +0.009 < +0.030
EENESH NN (%FS/10°C) < +0.015 < +0.010 < +£0.010 < +0.030
W REUE (MV/V) 3.0+0.008
EIPNEE (Q) 430 + 60
i pAHT (Q) 351+2.0
“e 2 PR (MQ) = 5000(50VDC)
T (%FS) < +1.0
REAMESEE (°C) -10 ~ +40
RVFERRESEE (C) -35 ~ +70
HEZEHRD BB IR (V) 5 ~ 12(DC)
= RN BB R (V) 18(DC)
RN ESEE (%FS) 150
R IRISH S E (%FS) 300
ATEX %48 ( TJi% ) I1G Exia I11C T4 111D Ex iaD 20 T73°C | 113G ExnL IIC T4
SNR < mm (inch ) BEEF
~F (mm)
ER L W - L H W1 W M H1 TN (+)
¥ B ; ’ 50kg~100kg | 50.8 |60.96(11.68(15.06| M8 Bt (-)
K [ ] ! 50lb ~ 300b | (2.0) | (2.4) |(0.46) | (0.59) | 1/4—28UNF
C’ . & I 250kg~500kg | 50.8 |60.96 [18.03| 21.4 M12 8.89 R@AN (-)
L o | 500lb~1.5klb | (2.0) | (2.4) | (0.71) | (0.84) | 1/2—20UNF | (0.35)
i i Tt 50.8 |60.96 2438|2776 | M12 KEH (+)
EEE | - 2,25kb | (2.0 | (2.4) |(0.96) | (1.09) | 1/2-20UNF %Y. R
i 2.5t 76.2 |99.06 |24.38|27.76 | M20x 1.5 | 13.97
i i 3klb (3.0) | (3.9) [(0.96)| (1.09) | 1/2-20UNF | (0.55)
,—:) : o 74.68 99,06 |30.74 | 34.12 | M20X 12 (1053.527)
i | | 1ok 294 | 39) (121 (134 ) 10 e (105.67; . ERESSE. 05mm
[ B S wi 7.5t 87.38 [139.7|37.08| 4046 | M24x2 | 275 . KEKE. 6m
15klb (3.44) | (6.5) |(1.46) | (1.59) | 1-14UNS | (1.08)
10t 112.78(177.8|42.93| 46.31 | M30x2 | 39.9
20klb (4.44) | (7.0) | (1.69) | (1.82) [1F—12UNF | (1.57)
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